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tlii t. i Discuss the Working of Schmitt triger.

I

i Design and discuss of Low -pass Butterworth Filters.
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6. I DiscussVoltage to time and Voltage to frequency converters.
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Understanding r CO5
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Time Allowed: 2 hrs Max Marks: 40

Note: - Attempt any 5 question All quations carry equal marks.

3. i Discuss Divider ciicuit, Square rooting circuit, RMS detector 1 t8l 1 Understanding
ii

4. I Design and discussthe binary weighted resistor network' i tgt, ,ssrne ornary wergnrg(I rcsrsru*iilwurr. i i Understanding
l,:1

5. j Dir"utr Successive approximation type A to D Converter. i t8l , Understanding CO5
1i

6. i DiscussVoltage to time and Voltage to frequency converters. ' i t8] Understanding CO5
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Questions

Design the Nyquist plot and comment on stability WRT value of (K) of the

system.

G(s)= 1q5 (S+3XS+')

The peak overshoot value for UFB system having G(s)=67515*3) is to be

reduced from 6}%to 2O%o. The system input is a unit step function.

o"ii* 
"ipi"ision 

iJf iiie tire,'p"iriire ,'ri*itnu, or"ttr,ooi ina t"ttrini
time for std. Second order system subjected to unit step input.

:t"l:|".,.,on , vetocity and acceleration error coefficients comment on

steady state error for type 0,1,2 and 3 system . Also represent in tabular form

Also calculate the value of frequencies where the plot crosses real and
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Determine characteristics eq. and all the parameters determining stability

and control ofthe system .

t8l Understanding
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Sem- ET&T -5th Subiect' Automatic control system

a.
-: Questions Marks

Design the Nyquist plot and comment on stability WRT value of (K) of the

L. system.

' G(s) = r/S (S+3XS+5)

, The peak overshoot value for UFB system having G(s)=67515*3) is to be Ist
reduced from 60% to 2\yo. The system input is a unit step function'

oerive lipieiiion i;; ;i;; ii;; , #;i iime , maximum overshooi Jno iettting

3. : time for std. Second order system subjected to unit step input.

{0<{<1}
I Derive position , velocity and acceleration error coefficients comment on

4. steady state error for type 0,1,2 and 3 system ' Also represent in tabular

form

: Di;w ih; poiilpioi role (it=(ilsili'6;ii(5;ri.
5. Also calculate the value of frequencies where the plot crosses real and

imaginary axis.

G(s)= 2s71t*tiG-st, ure ivste;
Determine characteristics eq. and all the parameters determining stability

and control of the system.
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Questions Marks
Levels of
Bloom's

taxopomy

I8l

t8l

Understanding CO3

a.
NO.

Nole; - attend any 5,

, a. GPIB (IEEE488)'

: b. MAx ?32 driYer

, Write an ALP in which 8051 reads the data from P1 and writes it to P2

: Continuously while giving a copy of it to the serial com port to be transferred

serially. Assume XTAL=11.0592 MHz Set the baud rate at 19200. Use interrupt.

ln the Circuit shown in tie cdnea a s*iiitt SW to pin P0.0 . wAp to do the

following -
(a) when SW=o, the DAC O/P gives up stare case wavform.

(b) Whe SW=l, the DAC O/P gives up triangular waveform.

Interface ADC 084b with 8051 ina atso write assemUty language progiam for selecting

chenner to as anolog input.

COs

Apply CO2

Applv co3

2.

t8l4.
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wh;ii; aiiil;;; b;i*;;n iiorini l"o inieiirpi eipiine types of interrupt'
t8l

wA, i; ;;i6i ih; ;*iiir' ina perrorm the followins

(a) if switch=O, send a msg "HELLO"

(b) lf switch=l, send a msg "GOOD BYE"

(c) Rssume that switch is connected to pin 2.0 & baurd nate is 9600'

t8l Applv
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i Note: - Altmtpt Both the question Each Quation has 4 pafi* Part a is compulsory, Afrempt any 2 out of b,c and d.
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Q. NO. l auestions i Marks i Bloom's I COs-1 -ita*onomv
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Ia:1

0 Polar NRZ ll

', a.

I

i

I

u
l

iil Unipolar RZ

I Explain the generation and detection of QPSK along with block
b. 

i diagram and waveform.

Explain acquisition of an FH sigrral

Explain in detail with an example DPSK Transmitter and

Receiver.
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Note: - Attempt any 5 question All quations carry equal marks,
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a.
Nb. auestions

1. Exptain PRIM's algorithm with exampte

, Explain graph traversal algorithm with example.

structure is used by B.F.S and D.F.S

Marks

t8l

Which data 
t8l

Levels of Bloom's
taxonomy

Understanding/Apply

COs

co3

Understanding/Apply CO3

Explain with the help of an example Kruskal algorithm.

Explain warshall algorithm to find the shortest path in a graph.

Explain Quick sort. Consider the following array and sort it
using quick sort method.

24, 56, 47,35, 10, 90, 82, 3l
. aiptain Quicii Jbrt."conaidai ihe following array and sort it
using quick sort method.

40, 47, 15, 24, g, 29, 72, 33

Understanding/Apply CO3

Understanding CO3

Applv

t81 Understanding/Apply, CO4
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m- ET&T 5s Subject- Advanced Data Structures and Algorithms- C022535(022)
Time Allowed: 2 hrs Max Marks: 40

Note: - Attempl any 5 question All questions carry equal marks.

a.
NO..

l.

2.

Levels of Bloom's
Questions

Explain PRIM's algorithm with example

Explain graph traversal algorithm with example. Which data

structure is used by B.F.S and D.F.S

Explain with the helpuf an example Kruskal algorithm.

Understanding/Apply CO3

l8l ' Understanding/Apply Co3

Marks

l8l

t8l

taxonomy
COs

Co:Understanding/Apply

J.

4. co3Explain warshall algorithm to find the shortest path in a graph.

Explain Quick sort. Consider the following array and sort it
using quick sort method.

24, 56, 47,35, 10, 90, 82, 3l
Explain Quick sort. Consider the following ariay and sort it
using quick sort method.

40, 47, I 5, 24, g, 29, 72, 33
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t8l

t8l Understanding/Apply CO4
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